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How to use T-Table

t, === P(T<t)=a

00 O Gy Jgdl

Note: Some t-tables contain values of o that are greater than or
equal to 0.90. When we search for small values of a in these
tables. we may use the fact that:

hoa=—1g4
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P(T<k)=0.90

a8l 0 8

df=v=10
to.os === P(T<t)=0.95

{=1.812

df=v=>5

k=1.476

t dad glhaall g Jlaiay) slana )

LT

v=df tp.00 fpo7s fp.00 tp,005
1 3.078 12.706 31.821 63.657
2 1886 4303 6065 9925
3 1.638 3.182 4.541 5841
3 1.533 2776 3.747 4,604
B 1476 2571 3.365 4,032
6 1.440 2447 3.143 3,707
7 1415 2365 2008 3400
3 1.397 2.306 2896 3.355
5 1383 | 3362 3801 3250
2228 2.764 3.160
m%' 3301 3718 3.106
v=df tp.05 tp.073 tp.00 tp.005
1 6314 12.706 31821 63.657
2 2020 1303 6065 0025
3 2353 3182 4541 5841
2132 2.776 3.747 4604
$ 2,015 7571 3.365 4032
1943 2447 3.143 3707
7 1895 2365 2998 3499
8 1860 2306 7 896 3355
9 1833 3.262 7821 3250
10 1812 27228 3764 3160
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vedf to.90 to97s to.99 to.995
to 05 df =20 1 3.078 : 12.706 31.821 63.657

S 2 1.886 29 4303 6.965 9925

i 3 1.638 2383 3.182 4541 5841

) ] 1 1533 212 2.776 3.747 4604
8 03990 90 BaRuo dasdll : N T S T B

6 1.340 L 24 143 .

‘-.3 3‘ Sl s = 7 1.415 1.895 2.365 2998 349
Jadx| 8 1397 1 3306 2396 3355

92 9 1363 ¥ B 3262 3821 3250

- ) .. " 10 1372 19> 2238 3764 3169

1duo Pl 191 1 1.363 I 3301 3718 3.106

12 1356 i 3 3179 3681 3.055

13 1350 % i 2160 2650 3012

t =.-t ¥] 1345 [ ] 2135 2624 2977

1-a a 15 1.331 183 2131 2602 2947

16 1337 L 2120 2583 2931

17 1333 1 2110 2567 2898

18 1330 1 2.101 2553 2878

t =-1 =_|t , 1328 | 1o 2093 2539 2861
0.05 = %“1-0.05 0.95 = L1725 2.086 2528 2.843
: 133 | v 2.080 2518 2831

= 1.725
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@ T2K)=0.95, (df=15)
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k= -1.753 JN
2-aAeSall ol 33k y6
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vedf t 1,
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4 13538 1 T 5 1604
£ 1.8%6 3 363 2
s ETH 143 07
v a3 365 98 3
] 308 2596 35|
9 5 1 g_'
e 43 g ,'{n 10 |
) BT 3 108 |
% 9 &1 o3|
3 5 ) 650 013
1) pAT) 624 397
L7 i w3 354
1337 | 16 h‘g 383 21
17 1333 1740 1) 2367
. 3% 73 101 38 [
-] 229 o83 51
‘ ) 323 7% 773 23 gz
2 33 21 080 E3T

1- P(T<k)=0.95 == P(T<k)=1-0,95 =_=> P(T<k)= 0.05 | =us So >
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tl-“= - ta

= —t1_0.05

=-t
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=-1.75
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0.93

@ P(T<t)=0.93 (df=10)

0.90 (oS! dasdll
Bag>ge go 13l Jgu=ll 3 dadll e Gl
nad) Sl (s B)guazes gl

t = 1.372;1.812 — 1.592
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v=df to.05 to.o7s to.00 tp.00s
1 6314 12.706 31821 63.657
2 2.920 4.303 6.963 9.925
3 2353 3.182 4541 5.841
4 2132 2776 3.747 4.604
3 2.015 2571 3.363 4.032
[ 1.943 2447 3.143 3.707
7 1.895 2.365 2.99% 3.499
5 1.860 2306 2.896 3355
9 1933 2262 2821 3.250

m 1.372 1.812 2228 2.764 3.169
1303 =0 2201 2718 3.106

12 1356 1.782 2179 2681 3.055
13 1350 1771 2160 2650 3.012
14 1345 1.761 2145 1624 2077
15 1341 1.733 2131 2602 2947
16 1.337 1.746 2.120 2.583 2971
17 1.333 1.740 2.110 2567 2.898
18 1.330 1.734 2.101 2552 2878
19 1.328 1.729 2.093 2.539 2.861
20 1.325 1.725 2.086 2528 2845
21 1.323 1.721 2.080 2518 2.831
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@ P(T<2.110)=? (df=17)

df=17 L2l dzo dis .l
2.110 4esd)l e Cuall (el § Sy
2.110 4ol dblaad! JloiY1 dad gl

P(T<2.110)= 0.975

a3 allp (< 8

L "™
v=df to.o0 to.oz toors to.00 to.00s
1 3.078 6.314 12 /e 31.821 63.657
3 1.886 3020 1.03 6.965 0.025
3 1.638 3353 1 4541 5 841
1 1533 313 |7k 3747 +.604
5 1476 3015 3501 3.365 1032
s 1,450 1.043 ST 3.143 3,707
7 1415 1.895 336 3008 3.499
g 1307 1.860 7306 3596 3355
5 1383 1833 3302 381 3350
10 1372 1.812 3VE 3764 3160
11 1.363 1.798 71 2718 3106
12 1.356 1.782 E El 2681 3055
13 1.350 1.771 Q 1] 2650 3012
14 1.345 1.761 i 5 2624 24977
1= 1.341 1.753 & 1 2602 2947
u 1.337 1.746 Wi 2 583 24921
17 *+ 2110 I 2 567 2 808
1.330 1.734 v 2 552 2878
19 1.328 1.729 2093 2 539 2861
20 1.325 1.725 2 0BS 2 528 2845
21 1.323 1.721 2 080 2 518 2831
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@ P(T<2.718)=? (df=11)

df=11 @) dz)d s Caddl
2.718 dasdll (& Casall pudd § Euly
2.718 dosdl) dblaa)l Jlai>Y1 doud g

P(T<2.718)= 0.99

iaaall7 '« 8

v=df t.90 to.os to.o72 to.00 to.g0s
1 3.078 65314 12,706 IS 653657
2 1.886 2.920 4.303 €533 Q925
3 1.638 3353 3,182 b4 5.841
4 1.533 2.132 2. 776 3. 747 4604
5 1.476 2.015 2.571 3.365 4032
3 1440 1.043 2447 }.143 3.707
7 1.415 1.895 2365 1: 3 3409
5 1.397 1.860 2,306 E 5 3.355
o 1383 1833 3362 81 3250
14 1.372 1.812 2228 » Ty 3.169
11 T v z.m_l 3.106
T? 1.35% 1.782 2179 T 581 3.055
13 1350 1771 3160 3 650 3012
14 1.345 1.761 2.145 2.624 2977
15 1341 1.753 3131 3,602 3.047
16 1.337 1.746 2120 2583 3001
17 1.333 1.740 2.110 2.567 2. 508
18 1.330 1.734 2101 2552 2878
19 1.328 1.720 2003 2530 3861
20 1.325 1.725 2.086 2.528 2845
| 1.323 1.721 2080 2518 2831
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How to use T-Table : Jlaisyl Al o 5a) ai yha

1}tg,g5= ? (df=10) 1) P( T< K) =0.90, (df =5)
1.812 k= 1.476

2) togo- 2 ( df =12) 2) P(T=2K)=0.95, (df=15)
1.356 k= -1.753

3) tg_ng,: ? (df=20)

=? -
. 3) P(T<2.110)=? (df=17)
0.975

4) tp.10="7 (df=5) 4) P(T<2.718)=? (df =11)

-1.476 0.99
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